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QUESTION 1

What is a function of a table check constraint? 

A. To provide a method of avoiding duplicate entries for a column. 

B. To provide a method of ensuring a column\\'s values are within a specific range. 

C. To ensure that XML columns are properly populated in an associated XML table space. 

D. To enforce relationships between tables by checking the existence of rows in one table against another. 

Correct Answer: B 

 

 

QUESTION 2

If a table named MY_TAB contains 100 rows and the following statement is executed: 

How many rows will be updated? 

A. 0 

B. 1 

C. 10 

D. 99 

Correct Answer: C 

 

QUESTION 3

Which operation normally does NOT require an exclusive lock? 

A. BIND 

B. DROP 

C. GRANT 

D. SELECT 
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Correct Answer: D 

 

 

QUESTION 4

Which two statements are true about foreign key constraints? (Choose two.) 

A. The foreign key constraint columns must be supported by an index. 

B. The foreign key constraint columns must be defined as NOT NULL. 

C. The number and data types of foreign key constraint columns must match the parent key. 

D. The columns of one foreign key constraint cannot be used in another foreign key constraint. 

E. To define a foreign key constraint there must be an associated primary key or unique key in the same or different
table. 

Correct Answer: CE 

 

QUESTION 5

Which object can be enabled for compression? 

A. View 

B. Buffer pool 

C. Storage group 

D. Temporary table 

Correct Answer: D 

 

 

QUESTION 6

When is an INTENT EXCLUSIVE (IX) lock required? 

A. When a transaction intends to read or change data. 

B. When a transaction intends to change but not read data. 

C. When a transaction intends to read but not change data. 

D. When a transaction intends to change the system catalog. 

Correct Answer: A 
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QUESTION 7

What isolation level prevents dirty reads, nonrepeatable reads, and phantoms? 

A. Read stability (RS) 

B. Cursor stability (CS) 

C. Repeatable read (RR) 

D. Uncommitted read (UR) 

Correct Answer: C 

 

QUESTION 8

A table named EMPLOYEES was created as follows: 

What will be the results? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: C 

 

 

Latest 000-610 Dumps | 000-610 VCE Dumps | 000-610 Exam Questions                                4 / 7

https://www.passapply.com/000-610.html
https://www.passapply.com/000-610.html
https://www.passapply.com/000-610.html


https://www.passapply.com/000-610.html
2021 Latest passapply 000-610 PDF and VCE dumps Download

QUESTION 9

Which of the following privileges allow a user to update the comment on a sequence? 

A. ALTER 

B. USAGE 

C. UPDATE 

D. COMMENT 

Correct Answer: A 

 

QUESTION 10

When is a mask used to limit access to data in a table? 

A. When mandatory access control (MAC) is used to protect the table. 

B. When discretionary access control (DAC) is used to protect the table. 

C. When label-based access control (LBAC) is used to protect the table. 

D. When row and column access control (RCAC) is used to protect the table. 

Correct Answer: D 

 

 

QUESTION 11

Which data type should be used to store data in a column that represents money and accurately returns a two position
scale? 

A. BIGINT 

B. BINARY 

C. DOUBLE 

D. DECIMAL 

Correct Answer: D 

 

QUESTION 12

A table named DEPARTMENT contains the following data: 
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What will happen? 

A. The statement will fail because a subquery cannot be used in an UPDATE statement. 

B. The statement will fail because the result set produced by the subquery will contain more than one row. 

C. The statement will succeed; the last record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

D. The statement will succeed; the first record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

Correct Answer: B 
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